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P& R FI9(@A% (Efz : /)

B & = S FrfE ™ AR BEm
T = # | AEMSEK 457 82 86 29
(467) (84) (88) (30)

DS Sl =S 72,000 117,100 72,700 84,100

(71,800) (114,600) (73,100) (83,900)
O | AEMRK 162 37 38 12
(163) (37) (39) (12)

DS Sl =S 150,100 290,700 134,800 150,500

(147,600) (284,500) (131,900) (151,700)
T ¥ | AEak 42 11 9 2
(42) (11) (9) (2)

DS il =S 50,300 78,100 46,700 47,000

(49,800) (77,500) (45,800) (47,000)
& A 7| FAELAK 661 130 133 43
(672) (132) (136) (44)

S8 il =S 89,800 163,200 88,700 100,900

(88,800) (159,100) (88,200) (100,700)

X MR, MR RER TR o ET. () RERIFEORETH 5,

ikl PS LI IR S (BT %)
B & B 3 CEEnE ENTH BET
T £ # | e 456 82 86 29
(463) (83) (87) (30)
T EE)EK 0.0 0.6 0.3 A 0.7
(A0.2) (0.2) (0.3) (A1.1)
X M| MEta 159 37 36 11
(161) (36) (38) (12)
T EE)EK 0.6 1.3 1.0 A038
(0.2) (0.7) (0.8) (A1.1)
T X | Mt e 42 11 9 2
(42) (11) (9) (2)
T EE) K 0.8 0.6 1.9 0.0
(0.5) (0.4) (1.3) (0.0)
2 A #& | #tai 657 130 131 42
(666) (130) (134) (44)
ERZPAIIES 0.2 0.8 0.6 A 0.7
(A0.1) (0.4) (0.5) (A1.0)
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W ETRI S - WalFEBRIGHL

(1) " ETRIFYMAgIE(L

7 {EEH (BEfiz: [/ i) GE=:! (B [/ )
IBR|  THETE  |BEsss SEIG M Btz THETE  [mEEmex G {M&

1 ERAT 6 124,800 ( 123,300 ) 1 ] 37 290,700 ( 284,500 )
2 B ™ 82 [117,100 ( 114,600 ) 2 =Bm 6 198,800 ( 195,300 )
3 SEIKET 5 111,500 ( 111,300 ) 3 BT 2 174,000 ( 155,500 )
4 =BmH 13 97,500 ( 98,700 ) 4 RRET 1 151,000 ( 148,000 )
5 BE™ 29 84,100 ( 83,900 ) 5 BEM 12 150,500 ( 151,700 )
6 T 86 72,700 ( 73,100 ) 6 P=2//Nus] 38 134,800 ( 131,900 )
7 BT 9 67,800 ( 70,200 ) 7| RS T 3 123,300 ( 122,300 )
8 |FEoEMm| 12 66,400 ( 67,400 ) 8 R 4 121,200 ( 119,600 )
9 | HBIST 12 65,500 ( 65,400 ) 9 BEET 2 92,500 ( 92,300 )
10| &S 3 65,100 ( 63,600 ) 10| =ZxH 13 84,100 ( 84,100 )

(2) TETRIN I EEENZKIEAL

O ZEHEX (kA1) mEr

7 {EEH (B @ %) EE = (BEfr 0 %)
IEGr|  THHETE  [skesmak A B K IBGr|  THHETSE | stesmas A B K

1 g 3 1.4 ( 0.6) 1 Himm 2 9.7 ( 8.1)
2 ERHET 6 1.1 ( 1.0) 2 ERET 1 2.0 ( 2.1)
3 yoilichs] 10 0.7 ( 1.0) 3 =B 6 1.5 ( 1.1)
4 B4l ™ 82 0.6 ( 0.2) 4 EEdake 37 1.3 ( 0.7)
5 R 18 03( AO01) 5 B 4 1.1 ( 0.4)
6 R 86 0.3 ( 0.3) 6 SR 36 1.0 ( 0.8)
7 BT 23 0.2 ( 0.2) 7 | HESH 3 0.8 ( 0.3)
8 L4 6 0.2 ( 0.1) 8 EEH 2 0.5 ( 0.5)
9 | HEXET 12 0.2 ( 0.1) 9 il 3 0.3 ( 0.2)
10| EKET 5 0.1 ( 0.1) 10| &®HS 2 0.3 ( 0.0)

@ ZE#HE (TAr) mEr

7 {EEH (B %) 4 P (EfL 0 %)
latr|  THRTE | EHEHEK IBhz|  THETR  |wesma ST ER

1| EFEZE 2 A21( A20) 1 | FE0ES 2 A21( A22)
2 REH 5 A18( A20) 2 | ®zRm 2 A18( A24)
3 |FE0EFH| 12 Al17( A17) 3 | REFEE 1 Al16( A18)
4 = HHT 2 Al5( A18) 4 = M7 1 Al5( A19)
5 Ip=:diing 2 Al13( Al4) 5 | MEFEE 1 Al4( A1T)
6 | FEFEE 2 Al12( Al16) 6 MaIp=iing 1 Al1l1( A18)
7| ®weRE 4 Al1l1( A15) 7 FEH 1 A10( A21)
8 g BT 6 A10( A12) 8 TH® 2 A0S ( A12)
9 | RIS 3 A07( AO03) 9 FE™ 3 A0S ( A10)
10| &= 29 A07T( Al11) 10| B=EH 11 A0S ( Al11)
F1 0 0 NIFEEOHRIE,

2 'RILEHRTIBLA RS2 DIE, PHEAASNINERB 2 LU TOREICLSH D,




7 T (B [1/m) T AR (B4 [/ m)
BRG] THHETE | BEsK MR BRG]  THHETE | BEsK MR

1 ErfA™ 11 78,100 ( 77,500 ) 1 Erf™ 130 |163,200 ( 159,100 )

2 2350 1 48,000 ( 47,700 ) 2 ERHET 7 128,600 ( 126,900 )

3 BET 2 47,000 ( 47,000 ) 3 =B 20 125,400 ( 123,800 )

A =BmH 1 46,700 ( 46,700 ) 4 B 7K ET 5 111,500 ( 111,300 )

EMT 9 46,700 ( 45,800 ) 5 BE™ 5 108,700 ( 100,300 )

6 BE™ 43 100,900 ( 100,700 )

7 AT 133 88,700 ( 88,200 )

8 | HESH 15 77,100 ( 76,800 )

9 R 23 71,600 ( 69,100 )

10 | FEnEM | 14 68,200 ( 69,300 )

v TEW (B0 %) T 2% (B0 %)
IEGL)  THHETE [tk Tz EN K IEGL)  THHETE  |[sstssk Tz EN K

1 AN 9 1.9 ( 1.3) 1 g 5 4.7 ( 3.6)

2 ki) 1 1.3 ( 0.0) 2 ERAT 7 1.2 ( 1.2)

3 BHT 3 1.2 ( 0.7) 3 Erm 130 0.8 ( 0.4)

4 EafA™ 11 0.6 ( 0.4) 4 o Eic sl 14 0.6 ( 0.7)

5 R 1 0.6 ( 0.0) 5 AN 131 0.6 ( 0.5)

6 R 23 0.5 ( 0.0)

7 =B 20 0.4 ( 0.2)

8 | EHM 30 0.3 ( 0.2)

9 | #EST 15 0.3 ( 0.1)

10| = 8 0.2 ( 0.1)

v T (BAL: %) T 2A% (BAL: %)
Ietr|  THETSR  |ssmss A EK lBkr|  TETR  |asba ST ER

) BiEH 2 0.0 ( 0.0) 1| B=FEE 3 A19( A19)

=Bm 1 0.0 ( 0.0) 2 | FEOET| 14 Al17( A18)

3| BEL=m 2 0.2 ( 0.2) 3 FEh 6 A17( A20)

4 =L 7 0.3 ( 0.3) 4 = HET 3 Al5( A18)

5 R 2 0.4 ( 0.4) 5 | wzmRE 6 Al13( A18)

6 RS HT 3 Al2( Al6)

Ip=:diing 3 Al2( A1l5)

8 g AT 6 A10( A12)

9 THT 5 AO07( A1l)

10| B&Ed 42 A07( A10)




T BT 5 & = il 3t s NE 3L

(1) {E=i (BAL: [/ m, %)
E HE L (i ES) | RIARMMEE | R6ARMEE EEE FEH MEEER]

1 |BE™ me-28) 351,000 | 342,000 6 ( 1.8)|#%&6TH66HE s 6 — 7 —28)
2 IR Crinds-24) 322,000 | 313,000 29 ( 3.0)|hx1TE108E IS [kl -8 -27]
3|1=ZB™ =5-5) X 174,000 | 169,000 0( 2.4)|ksE2TE3547E2 [K=ET2 ~13-15)
4 |REHET (Rg-5) 145,000 | 143,000 4 ( 1.4)|FEIFAREF40%E26

; BE™ (BE-2) X 138,000 | 137,000 7( 0.7)|=%iBFH/ HE347E 6

EKET (sEk-4) 138,000 | 136,000 5( 15)|FBExE—TH232&4

7 |EET @vE- 1) 109,000 | 104,000 8 ( 3.0)|%&BH83%26 [HFHAT11-13]
8 B (k- 3) 106,000 | 104,000 9( 1.0)|gB3TE6&HL [F153 -6 -20]
9 [#EFF™ Gem- 1) 100,000 | 100,000 0( 0.0)|FMEFEHFRAIE 4
10 [EEE T (mm-3) 97,600 | 97,600 0( A02)|IZHFEZMN1IG1E6

(2) maZEH (B : B/, %)
E HE L (i ES) | RIARMMEE | R6ARMEE EEE FEH MEEER]

1 |8 (smz=s-1) X | 1,470,000 | 1,440,000 1( 07)|EHRET2TH6%S
2 [E#T gemeses-1) X[ 637,000 [ 612,000 1( 1.2)[#Aa871320&184%
3 |=8 (=85-1) ¥ | 340,000 | 332,000 4 ( 25 )|—FE2700% 6 41 [—&EHT15-21]
4 [iBiE™ cazs-1) ¥ | 276,000 | 276,000 0( AOT)|AFRETESTE 24 [AFH5 -2 -3
5 |EET (mves - 1) X | 240,000 | 206,000 16.5 ( 13.2 )|$REERT357& 5 [4REERT5 — 9 ]
6 |BERT (5 - 4) 159,000 | 157,000 3( 06)|fBE2TEB1&ES84 [A182-1—4]
: RIS (mrss - 3) 151,000 | 149,000 3( 07)|E=mb1TEI68E1 [EAH1-18-15]

RRE] (Bs5-1) 151,000 | 148,000 0( 21)|FERFRRT28F214}

9 [EL™ (mt5-4) 137,000 | 136,000 7( 0.7)|5EE306E
10 |38 ™ em5- 1) 129,000 | 129,000 0 ( 0.0)|FHWFE/R436%3

(3) Iz (BAL: [/ m, %)
E MR G (s ES) | RTARMME | R6ARME ZENE FrTEH# [MEE&RR]
1 |E#M™ @mmewo-3) | 151,000 | 149,000 1.3 (0.7 )|=%=t3 TE244E 54 [B%fE3 - 2 —21]
2 |BEE™ mzo-1) 69,000 [ 68,300 1.0 ( 0.0)[/\#g4 THE11&FE 184}
3 [VEMT Gtk - 1) 65,000 | 63,900 1.7 ( 0.9)|sE®E1TH100%184 [BEHEL -9 —37]
4 |EL™ (B+9-5) 53,600 [ 53,600 0.0 ( 0.0)|3m&E3691E1654\ [FHEEHT11—24]
b [FBE™ ¢azo-2) 51,300 [ 51,300 0.0 (  0.0)|KFmFHF/\RHE61% 2
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(ZERIEfFR (EEH) ]

(1) Efx
| EemEe ZEE (%) NRfiE (F/m) S e
R7 R6 R7 R6
1 Bz -1 5.8 3.9( 255,000 | 241,000 |ZPET214%& 3 [FPHI5 - 6 |
2 |BvB- 1 4.8 3.0/ 109,000 | 104,000 |&Z=HHEI83&26 [FHHET11-13]
3 |FRfZE - 3 4.1 2.3 229,000 | 220,000 |2®=2 TEH150% [&®E 2 —12-18]
4 |BEREZE - 23K 3.9 4.0] 322,000 | 310,000 |FAERET19%E 7 [FAEFEAT19-16]
b |FRfEZ%E - 6 3.8 1.9] 219,000 | 211,000 [#xHE796% 1 [#%ET8 — 3 |
6 |FRRBK —21 3.7 3.3| 195,000 | 188,000 |5H184%F 2 [AH12-24]
7 |FRRZE - 21 3.1 2.11 200,000 | 194,000 | KEHT138% 4 [KAEHT 2 —37]
8 |=B-5X 3.0 2.4 174,000 | 169,000 |x=fr2 TE3547%E 2 [A=AT2 —13-15]
9 | BRI — 9 2.9 1.3] 245,000 | 238,000 |RET8&FH 4 [RET4 — 8|
10 R AR — 24 2.9 3.0 322,000 | 313,000 [+ 1TEH108F 94 [kl -8 -27]

ZEE (%) | ARMEE (F/n) piEd  [ERFR

R7 R6 R7 R6
1 | BE-26 A 43 A48 24500 | 25600 |OBFFEEF239%18
2 |BEE- 8 A 38| A 4.4 23,000 | 23,900 |fH:EAERT19E144%
BEE - 3 A 36| A45| 16,200 | 16,800 BB 2TH542% ELHE2 - 8 —26)

FrEH -2 | A 3.6 A41] 13500 | 14,000 [JHRZFEARE3043%F 9

EMRE - 3| A33] A3.20 20,200 | 20,900 |#BEAFEH2520%20

BRIk —27| A 29| A3.00 79,500 | 81,900 |&)I#ET430%12 [F)IIHET 2 —43]

Bk —15| A 29| A 3.0 50,600 | 52,100 [FHLLFENFHL12FE 1

5
6
7 |BREENK—6| A29 A3.0| 53400 | 55000 [HEEERFHFR1L8FALIH
8
9

aE—27 A27 A28 54,000 | 55500 |BFEFFI#EB2453 34

10EMVEZ -3 | A25 A27 31,600 | 32,400 [#i/THSEF L5E853% 24+

E 1 RAICEESETIRLAARGZDIE, MEAASNINBRIE2MAUTOBEICLSH D,
2 1 XIFRMEAEE & DHBH A,




(ZERIEMR (B ]

(1) EfI
we| mamgs | Sow 6| BREE B/ it [ERER
R7 R6 R7 R6
1|85 - 13X 16.5 13.2| 240,000| 206,000(5REEET357& 5 [$REERT5 — 9 |
2 |BR[0ZES5 -6 11.4 6.8 440,000| 395,000|EFE2TE4%19 [[EF2 — 4 —41]
3 |ERfZES5 —13 9.9 6.0 676,000| 615,000{=EHT 9 &F114}\
4 |EMdR5 - 1% 4.1 1.2| 637,000 612,000|%#aHT320&F 184}
5 [Etarh®k5 — 43 3.2 1.6 259,000 251,000|#=HET102& 134}
6 |EEb - 2 2.9 2.9] 108,000| 105,000|fnm;=RIAI1368% 6 4 [A1M;ERAT2 — 19
7(1=Z85—-1% 2.4 2.5| 340,000 332,000|—#FHE72700% 6 4\ [—F&HHET15-21]
8 [R5 —21 2.3 1.5 135,000| 132,000(|#H=HT308% 4
9 |=B5-2 2.3 1.9] 271,000| 265,000|x#81 TE2739% 1 [l -5 -6
10|=&5 -4 22| 1.1| 185,000 181,000({Z#AT1613% 1 [E4H 1 —40 ]
(2) T
we| mawgs | 0w 00 | BREE B/ Fii  [ERER
R7 R6 R7 R6
1 |MlE5 -1 A27 A33| 28600 | 29,400 [FEFHFHT721F 17/
2 [(EfaR&5 — 1 A24 A21| 40,000 | 41,000 |ZTRETT{REFH T 1490
3 |[FEDOESL -2 A22 A23| 75900 | 77,600 | KIZFFhTE448% 8
4 |ERREKRD - 1 A21| A21|139,000 (142,000 |ERET49%E [ERET3 9]
5 [/B#E5 -9 A21 A22| 75400 | 77,000 |[RETH 3T H13%E22
6 [E&fEKS — 6 A 19 A19| 60,600 | 61,800 |AHLICHFHIHIOTE
7 |[FEOES5 -1 A 19 A20| 82,000 | 83,600 |REFHFMI1078&E22
8 |/AEL — 4 Al17 A1.7[117,000 (119,000 |=HET14%
9 |ERfFE5 -1 A 16| A 13| 63,000 | 64,000 |figER=57./ H562& 124\
10 [EtdRs5 -31 | A 15| A 21| 45700 | 46,400 & ILFHTZRAER2031%F 9
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[(ZEFRIERR (THH) )

(1) Ef
IEf|  EAEMES ZBE (%) At (F3/ ) AT E MEE&RR]
R7 R6 R7 R6

1 PEMVEZ9 -1 2.6 2.4 35400| 34,500 |##HE4TE104%3 [##ME4 -4 -3

2 [EMFR9 -3 2.6 2.5 59,400 | 57,900 |BEm4TE107E3 [EEFE4I-—T-19]

3 (BRI -4 2.4 1.4| 51,400 | 50,200 |FR@cHET438F 1 [JR@ITHI16-2]

4 PEMVE®9 -2 2.1 1.4 29,700 | 29,100 |HFHBEFKFT7776% 5 /L

b |g#fMZE9 — 1 2.0 1.8| 70,400 | 69,000 [#r4 #2420% 1 4%

(2) T XTHEMSIEAL
B EEES ZEE ) Gt (F/mi) T TE MEERT
R7 R6 R7 R6

B9 — 4 0.0 A 0.2 43,700 43,700|AR1THE271% [AR1-22-29]
FfEAK 9 — 3 0.0/ A 03| 92,000{ 92,000|FERETFIEMH142220
B[MEK9 — 5 0.0l A0.4| 47,200 47,2002 ATZRBI072E
BE -1 0.0 0.0 42,700 42,700|R=&FE _£396&F 774
BE9 -2 0.0 0.0 51,300| 51,300|KHMerF/\/xH561% 2

11=Z=89 -1 0.0 0.0 46,700| 46,700|KfK155%28
BEIT=9 -2 0.0 0.0 21,200| 21,200{lL'==F&KIN2230%F 14}
Z+9-1 0.0 0.0 36,900[ 36,900|FER=F:&ET103%F 14+
Z2L+9-5 0.0 0.0 53,600| 53,600(3E&E3691%1654 [FHEBHE11—24]
=Z2+9-6 0.0 0.0 38,700 38,700|/RHFH#IH320%E 3 4
BEEQ — 2 0.0 A 0.6 15,600 15,600(FGEFIFHREIFR27263FE655}
1 RICEBETIEMAERZDIE, MERAASINIINERE2MUTOREICLSH D,




TXETR LR - #IEV - ToEt R (ltithes)

1 {E=E 2 mEEM
s | EF I T fkpit=m | ER I T

a5t 456 170 87 199 aFt 159 86 28 45
BemA 82 48 13 21 BemA 37 31 3 3
EX 25 17 4 4 EX 20 19 1 0
Bim X 28 22 3 3 Bim X 8 8 0 0
HAKX 29 9 6 14 HAKX 9 4 2 3
AN 86 48 16 22 Pt /N 36 31 3 2
R X 63 40 12 11 R X 32 29 2 1
RZX 20 8 4 8 RZX 3 2 1 0
KEX 3 0 0 3 KEBK 0 0 1
BiE 29 9 2 18 BiE 11 0 3 8
o 3 1 1 1 o 2 2 0 0
=Bm 13 3 2 8 =Bm 6 5 1 0
ELr=m 27 0 4 23 ELr=m 5 0 1 4
=T 2 0 3 =T 3 0 0 3
S 2 0 5 EHE™ 4 1 1 2
ELmm 38 2 12 24 E+m 13 2 6 5
B 23 12 3 8 BHAT 4 1 2 1
BEiE 17 4 6 7 BEiET 4 1 1 2
eIk 8 3 2 3 B 4 1 2 1
B 18 10 4 4 3] 4 3 1 0
HEE ™ 12 7 5 0 HEE S ™ 3 2 1 0
LHM 6 3 1 2 LHM 2 2 0 0
TH 3 0 1 2 THM 2 0 0 2
EEFH 8 0 4 4 e 2 1 1 0
™ 10 7 3 0 AT 3 1 1 1
FEm 0 0 5 FEm 1 0 0 1
T 0 0 3 I 1 0 0 1
)l 1 2 1 )l 2 1 1 0
FEoEH 12 0 0 12 FIoEH 2 0 0 2
L] 4 0 1 3 Wz Bh 2 0 0 2
HFEHET 0 2 HFEEHT 1 0 0 1
GIp=-t:) 0 2 Glp=-t:) 1 0 0 1
FRE ] 2 FEREH] 1

MM T MM BT

kR FikEaa=aing

Ex)E]:) 6 0 1 5 B3N]

SEIKHET 5 2 1 2 SEIKHET

RRAET 6 5 1 0 RRAET 1 1 0 0
N BT 6 0 1 5 ININ:)

= M 2 1 0 1 = M 1 0 0 1
JIARASET JIARASET

ZRAT 2 0 1 1 ZRAT 1 0 0 1




3 I & =A%
s | EF I T e | EF I T

a5t 42 31 11 0 aFt 657 287 126 244
BemA 11 8 3 0 EafE ™ 130 87 19 24
EX 1 1 0 0 EX 46 37 4
Bim X 4 1 0 Bim X 41 34 3
AKX 3 2 0 EKIX 43 16 10 17
AN 9 0 0 AN 131 88 19 24
R X 7 0 0 R X 102 76 14 12
RZX 0 0 RZX 25 12 5 8
KEX KEBK 4 0 0 4
BiE 2 0 2 0 BiE 42 9 7 26
o e 5 3 1 1
=Bm 1 0 1 0 =Bm 20 8 4 8
=2t=Em 2 1 1 0 ELr=m 34 1 6 27
=T =T 8 2 0 6
S BmEH 11 3 1 7
EtmH 7 4 3 0 EtmH 58 8 21 29
B 3 3 0 0 BHAT 30 16 5 9
BEiE 2 1 1 0 BEiET 23 6 8 9
B 1 1 0 0 B 13 5 4 4
B 1 1 0 0 B 23 14 5 4
HES™ HES™ 15 9 6 0
il & 5 1 2
TH TH 0 1 4
EEFH 2 0 0 EEFH 12 3 5 4
™ 1 0 0 AT 14 9 4 1
FEm FEm 0 0 6
T I 0 0 4
)l )l 2 3 1
FEoEH FEOES 14 0 0 14
L] Lol 6 0 1 5
RFTE HFEEHT 0

Nap=tiing Map=diing 0
F (P27 P EE

MM T MM T
ik Eag=ing iEREaE:)

BRI EAEL) 6 0 1 5
TE7KET TE7KET 5 2 1 2
RRHET RRAT 7 6 1 0
N BT VININ:5) 6 0 1 5
= HET = A 3 1 0 2
JIARASET JIARASET

Fo3iy) ZRAT 3 0 1 2

-10-




&R - FHEB)ERK

(2H5)

X BT F F= th B O i I % i £ B &
j 0.0 0.6 0.8 0.2
1=} it 72,000 150,100 50,300 89,800
457 456 162 159 42 42 661 657
11 2.0 2.0 15
% X 132,500 375,600 70,400 236,800
25 25 20 20 1 1 46 46
10 11 0.7 10
B2 A [X 131,400 287,900 90,500 156,900
28 28 8 8 5 5 41 41
-0.3 —0.1 0.3 —0.2
TEKX 90,200 104,600 67,200 90,500
29 29 9 9 5 5 43 43
_ 0.6 13 0.6 0.8
BEHE 117,100 290,700 78,100 163,200
82 82 37 37 11 11 130 130
0.5 12 17 0.8
th 2 [X 82,100 142,600 50,700 99,800
63 63 34 32 7 7 104 102
0.1 0.2 2.4 0.3
X 49,400 77,500 32,600 51,400
20 20 3 3 2 2 25 25
_ —25 24 —25
KEX 31,200 40,000 33,400
3 3 1 1 4 4
_ 0.3 10 19 0.6
EMTHE 72,700 134,800 46,700 88,700
86 86 38 36 9 9 133 131
—0.7 -0.8 0.0 -0.7
BT 84,100 150,500 47,000 100,900
29 29 12 11 2 2 43 42
14 9.7 47
BT 65,100 174,000 108,700
3 3 2 2 5 5
—0.1 15 0.0 0.4
=& 97,500 198,800 46,700 125,400
13 13 6 6 1 1 20 20
-05 -0.3 0.2 —04
Et=m 36,900 70,000 25,600 41,100
27 27 5 5 2 2 34 34
—0.4 -0.8 —05
FEM 52,100 78,100 61,800
5 5 3 3 8 8
-05 -05 -05
ERT 50,000 72,300 58,100
7 7 4 4 11 11
-0.3 0.0 0.3 —0.2
=+ 59,900 84,100 41,900 63,200
38 38 13 13 7 7 58 58
0.2 0.1 12 0.3
BT 49,900 72,400 27,300 50,600
23 23 4 4 3 3 30 30
-05 -0.3 05 —0.4
B2 46,100 65,100 42,300 49,100
17 17 4 4 2 2 23 23
—0.2 —0.2 13 —0.1
)1 T 46,600 66,000 23,300 50,800
8 8 4 4 1 1 13 13
0.3 1 0.6 0.5
] 61,900 121,200 48,000 71,600
18 18 4 4 1 1 23 23
0.2 0.8 0.3
HE ST 65,500 123,300 77,100
12 12 3 3 15 15
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mXETZ T £ i e ] I % i £ B &
\ 0.2 0.3 0.2
RETH 46,800 78,400 54,700
6 6 2 2 8 8
—0.7 —0.9 —0.7
THH 47400 60,800 52,700
3 3 2 2 5 5
04 0.5 0.4 —0.1
R 67,800 92,500 43,200 67,800
9 8 2 2 2 2 13 12
0.7 0.3 0.5 0.6
¥ Fichaa] 56,000 65,100 22,000 55,500
10 10 3 3 1 1 14 14
— 18 10 —1.7
FREH 44,700 59,900 47,200
5 5 1 1 6 6
—0.7 -0.3 -0.6
RIS 23,500 29,200 24,900
3 3 1 1 4 4
0.0 0.2 0.0
)l 38,300 59,800 45500
4 4 2 2 6 6
1.7 —2.1 1.7
FE0EH 66,400 79,000 68,200
12 12 2 2 14 14
=11 18 13
W2 R 23,400 32,400 26,400
4 4 2 2 6 6
21 16 —19
HFEHRT 30,600 63,000 41,400
2 2 1 1 3 3
1.3 =11 —1.2
MEIpE:L:i] 31,600 53,700 39,000
2 2 1 1 3 3
1.2 —14 1.2
E{FE T 21,600 29,200 24,100
2 2 1 1 3 3
10 10
EREaL) 55,200 55,200
6 6 6 6
0.1 0.1
57K ET 111,500 111,500
5 5 5 5
11 2.0 12
ERE 124,800 151,000 128,600
6 6 1 1 7 7
—04 —04
INIRL 33,400 33,400
6 6 6 6
15 15 15
E=geal:i] 28,600 40,700 32,600
2 2 1 1 3 3
—0.2 —04 -0.3
&= BT 30,100 27,100 29,100
2 2 1 1 3 3

LB FHEEE (%)
HEY - Y fffidg (F1.7m)
TR MR (L #Bihs

f it R)
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mHTRZ B RS (EEH)
EEE FBA624E % 100
No| T4, (IBF1624F 1 »> D 10F) (E3r104FH) & L7ctask
62 |63F | TTHE | 2F | 3FE | 4F |SFE | 6F | TF | 8F (| 28F |29F (30F |31FE [ 2F | 3F |4FE |S5F | 6F | THE |UIK| TH
B 1.7 2.6| 13.2| 26.7| 12.0| -1.0| -9.0/ -5.0/ -2.1| -3.0f -0.6/ -0.5| -0.6| -0.5| -0.6| -1.6| -0.5| -0.1| 0.2 0.6| 164.8| 79.0
E X 0.1 o1 00| 02| -01] -1.1| 02| 06| 08| 1.1
' B -0.4| -0.2[ -0.4| -03| -0.3| -1.3| -0.1] 02| 0.6 1.0
KK -1.3| -1.1| -1.4| -13| -1.3| -2.2| -1.4] -09| -0.6] -0.3
AN 33| 36| 83| 219 145| 07| -53| -3.8] -3.8[ -40f -0.1|] -0.2| 0.0 0.0 01| -1.2| -0.3] 0.0 03| 03| 156.7| 76.5
5 PRK R6.1.1 {TEIRER 05| 05
P XRERXIFEEFLZL 01l o1
KEBX -1.0| -1.1| -1.7| -4.4| -3.8| -3.1| -2.4] -2.6| -2.0[ -2.5
3| B 24| 38| 16.4| 38.6| 12.1| -0.4| -85 -43| -1.4| -2.8f -1.6| -1.6] -1.6| -1.5| -1.3| -1.7| -1.6] -1.3| -1.1| -0.7| 187.7| 82.6
4| B 3.0 67| 42.3| 41.8| 17.4| -0.6|-13.3|-10.4| -5.4|-109| -0.2| -0.1] 0.0 0.0] -0.6| -0.2[ 0.0| o0.4| 06| 1.4 2528 59.1
5|=& 1.2| 19| 21.1| 385| 109 0.0 -75| -52| -1.7| -2.8 03| o0.1f -0.1| -0.1| -0.1] -0.7| -0.6| -0.4| -0.3| -0.1| 189.5|107.8
6|=+t=m | 20 51| 12.9| 32.4| 135 01| -2.3] -2.4| -06| -22f -1.4] -1.3] -1.2| -1.1| -1.0[ -1.5| -1.1| -0.8] -0.5| -0.5| 178.5| 76.3
7| FEH 22| 39| 23.0| 32.7| 18.1| -1.0|-13.4|-10.2| -4.8[-10.2f -0.7| -0.5| -0.5| -0.5| -0.5| -0.8| -1.1| -0.8| -0.5| -0.4| 200.3| 52.4
8| &@E™ 1.4 17| 72| 15.3| 11.6| 4.0 -5.0[ -09| -0.1| 0.0 -1.5 -1.5| -1.6|] -1.2| -09| -2.7| -1.5| -1.0| -0.7| -0.5| 145.9| 82.3
9|=L 5.0 6.4 13.1| 31.4| 12.0] -0.3| -3.9| -3.9| -1.3[ -3.1f -1.2| -1.3] -1.3| -1.2| -1.1| -1.5| -1.2| -0.7| -0.4| -0.3| 177.1| 81.3
10| &A™ 25| 25| 34| 11.3| 139| 50| -1.1| -1.6 -1.0[ -2.7f -1.7| -1.3] -1.0] -0.7] -0.7| -1.4| -0.7] -0.3| 02| 02| 1412 72.4
11| BEE 1.8 22| 94| 24.3| 120 26| -43| -25| -1.4| -04 -3.0] -28 -25 -2.1| -1.7| -2.6| -1.7| -1.3] -0.9| -0.5| 159.7| 68.1
12| #11H 3.6| 43| 16.3| 20.4| 19.2| 19| -44| -22| -0.6[ -1.5| -1.4| -1.5| -1.3| -1.2| -1.0| -1.4| -0.7| -0.3| -0.3| -0.2| 177.4| 89.6
13| Bt 1.3| 1.4| 54| 265 12.8] 22| -2.6|] -2.2| -2.0/ -0.1} -0.2| -0.5| -0.6| -0.5| -0.5 -1.5 -0.6| -0.4| -0.1| 0.3] 155.9| 81.5
14| RIS | 2.4| 5.4| 22.9| 339| 14.7| 04| -6.1| -43| -08 -1.5| -0.2| -0.2[ -0.2| -0.1| 0.0] -0.7| -0.3] -0.1| 0.1 0.2| 199.7|100.4
15| 8 33| 36| 43| 152 21.7| 6.1| -45| -2.2| -1.0[ -1.3| -1.1| -0.9| -0.7| -0.5| -0.2| -1.0[ -0.4| 0.0 0.1 02| 160.7| 77.1
16| THEM 22| 16| 84| 236 96| -22| -50| -1.5| 00| -2.4 -1.5| -1.8] -1.6| -1.7| -1.8| -1.8| -1.9] -1.5| -1.0| -0.7| 149.2| 59.6
17| BB H 2.7 50| 18.7| 275 15.1| 0.0| -5.8| -3.6| -05[ -2.0f -0.6| -0.5| -0.7| -0.8] -0.9| -1.8| -1.7| -0.9| -0.6| -0.4| 182.9|100.5
18| HiFE 2.0 24| 37| 67| 109| 44| -06| -09 -1.1 -1.8f -0.8| -0.5| -0.4| -0.2| -0.2| -1.1| -0.3] o0.2[ 1.0/ 0.7| 131.2| 80.4
19| = 27| 38| 102| 227 93| 10| -1.9] -1.3] 00| -1.0f -2.9| -2.6] -2.4| -2.5| -2.5| -2.9| -3.2| -2.4| -2.0] -1.8| 154.9| 74.1
20| #EVEIE T -0.3| -0.4f -1.3| -1.0] -0.3] -0.3| -0.8| -1.6| -0.7| -0.4| -0.3] -0.7
21| ) -1.1| -1.0f -1.0f -1.1] -0.9| -0.6| -0.8] -1.5| -0.5| -0.2| -0.2| 0.0
2| p=oEs| 23| 27| 11.3| 22.3| 12.1) 0.0| -45| -1.5| 0.0| -1.1f -0.4| -0.6/ -0.8 -1.3] -1.6|/ -2.0| -2.0| -1.8| -1.7| -1.7| 156.8| 92.0
23| ez | 0.0/ 00| -3.8 -3.8 -3.6/ -3.1| -2.6] -2.9] -1.9 -1.6] -1.5 -1.1
24| EHRFTHT -09| -1 -2.1| -25| -2.5| -25| -2.8] -3.1| -3.1| -2.9] -2.0[ -2.1
25| AT ET 0.0 -1.6] -2.1| -2.4| -2.6| -2.4| -2.5| -2.8 -25| -2.0| -1.4| -1.3
26| FARE AT 0.0 o.0f -2.0] -1.6| -1.8] -1.7| -1.7| -1.8] -2.2[ -1.8] -1.6 -1.2
27| EEghr 2.8 3.4| 200| 316 12.1] 00| -6.4| -3.1| -1.2[ -0.7f -0.8| -0.8] -1.0| -1.2| -1.4| -1.6| -1.6] -1.5| -1.2| -1.0| 183.0| 94.4
28| ;&7KHT 26| 30| 16.2| 37.1| 9.2| -0.6| -9.4| -25 -1.1f -2.7f -0.1| -0.2| o0.1| -0.2| -0.2| -0.6| -0.3] 0.0 0.1 0.1 179.2[107.2
29| BRHT 24| 31| 202| 35.9| 9.0| -12| -7.2| -4.0| -09| -1.4f o0.4| 06| 1.0/ 08/ 12| 03[ 07| 09 1.0 1.1| 183.6|144.1
30| /LT 2.4| 37| 14.9| 37.9| 13.0| -0.6| -4.9| -1.7| -0.6[ -1.0f -0.5| -0.7] -1.0| -0.7| -0.6| -0.8| -0.6] -0.5| -0.3| -0.4| 185.7| 92.4
31| HHEAT 0.0 o.0f -35| -3.7| -3.0] -2.7| -3.1| -3.4| -2.3| -2.0| -1.8| -1.5
32| % W 0.0 o.0f -1.1] -1.0[ -0.9| -0.9| -0.9| -1.4| -1.2[ -1.1| -0.4| -0.2
8 & 25| 36| 12.2| 26.9| 12.9| 05| -57| -3.8| -1.8[ -2.6f -0.9| -0.8] -0.8| -0.7| -0.7| -1.5| -0.8] -0.5| -0.2| 0.0| 167.4| 80.5
=(S¥52:1&00) 100.0{103.6/116.2[147.5|166.5|167.4|157.8| 151.8{149.1| 145.2| 85.5| 84.8| 84.2| 83.6| 83.0| 81.7| 81.1| 80.7| 80.5| 80.5| 167.4| 80.5
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mHEBIZERHRS ()

FEEES BAAN624 % 100
No| T4, (FBR625E A > D10ER-) (BER10E/) & L7iE#
62 |63F |TE | 2F |3F|4F | 5&F | 65 | 7TE | 85 (2758 |285F [29F |30F 315 | 25F |3&F [4&F |5F|6&FE | TE || 75
EfE ™ 5.3| 10.8| 25.0| 31.0| 11.5| -4.7| -14.0[ -16.4| -10.5| -11.9 0.4 0.2 13| 12| 13| 10| -21| -02| 02| 07 13| 202.4| 54.0
E X 1.1 10| 21| 21| 24| 19| -19| 02| 06| 1.2 2.0
' BRX 1.3 09 23| 16 13| 1.0 -1.7[ 01| 04| 07| 1.1
B 2.0 -2.0 -1.2| -1.0| -1.3| -0.9| -2.8| -2.0| -0.9] -0.3| -0.1
R 7.8 11.2| 21.9| 32.7| 13.5| -3.7[ -12.5| -11.7| -9.1| -125| 0.0 o0.2[ 0.1 05/ 0.8/ 09| -1.8| -0.3] 05| 0.8 1.0/ 2041 47.0
2 i R6.1.1 1TERX H#R 09 12
EEK NRERIIEELL 04| 02
KEBX -0.8| -1.0| -1.0 -1.2| -4.8| -3.4| -3.3| -3.1| -2.8| -2.1| -2.4
3| B 5.1| 13.8] 30.0| 37.7| 10.7| -4.9| -11.9| -9.8| -6.3| -13.6] -2.4| -2.3| -1.8| -1.5| -1.3| -1.2| -2.1| -2.3] -1.5| -1.1| -0.8| 2255 45.0
4| gum 2.1| 12.8| 64.0| 58.0 19.5| -6.5| -16.8| -12.6| -8.8 -15.9]| -0.5| -0.5| -0.5| -0.2| 1.4| 3.1| 03| 2.6/ 6.9 81| 97| 349.3] 50.7
5|=& 33| 5.3| 33.2| 39.3| 145 -0.7| -12.6| -9.5| -5.3| -14.5| -04] 03] 03[ 04| 02| 04| 00| 02| 07] 1.1 1.5 2237 61.8
6=t 22| 25| 6.4 189| 10.0| -3.1| -11.0] -7.8| -55| -10.4] -2.0| -1.4| -1.1| -1.1| -0.8] -0.9| -1.4| -1.1| -0.9| -0.4| -0.3| 142.6] 30.4
7| FEH 1.8| 9.2| 18.1] 16.7| 16.2| -2.0| -10.3| -11.3| -2.8| -14.9 -0.8] -0.9| -1.1| -1.0| -1.2| -1.0] -1.4| -1.4| -1.3] -1.0] -0.8] 1749 30.7
8| &@E™ 0.0 0.0 16 21| 107 46| - 75| -5.1| -41f -1.9| -2.0| -1.7| -1.5| -1.3] -1.1| -3.3| -2.1| -1.5| -1.2| -0.5| 120.1| 37.1
9=+ 33| 5.6/ 19.3| 28.0 10.2| -5.6| -13.0] -8.9| -7.5| -10.5 -1.5| -1.1| -1.0] -1.0| -1.0| -0.7| -1.4| -0.9] -0.6| -0.1| 0.0 177.7| 38.9
10| &A™ 1.8 15| 22| 63| 137 40| -12| -39/ -29| -55| -0.3| -05 -0.6] -0.4| -0.1] -0.1| -1.3| -0.6] -0.3| -0.2| 0.1| 130.4| 51.2
11| BEE 1.2| 0.4 94| 17.2| 90| -1.4| -6.2| -57| -5.0| -48[ -4.2| -47| -48| -3.3] -2.2| -1.9] -2.7| -2.0| -1.2| -0.6| -0.3] 140.3| 304
12| #hIH - 59| 22.1| 35.1| 11.2| -3.0| -19.7| -9.7| -7.9] -3.5 -0.3| -0.4| -1.5| -1.4| -1.3| -1.3| -2.8] -1.2| -1.1| -0.7| -0.2| 194.3| 49.9
13| Bt 1.6| 3.9| 16.5| 46.1| 17.6| 00| -9.6| -7.1| -6.4| -59| 08| o5 11| 08| 1.2| 1.8/ -1.5| -0.4| 03| 04| 1.1| 208.0| 555
14| RS 2.1| 8.7| 25.5| 248 4.0| -48| -15.9| -13.7| - -14.6 -1.1| -1.1| -1.1| -0.8| -05| -0.3| -1.2| -0.7| -0.1] 03| 0.8 177.1| 347
15| 8 33| 45| 13.0| 16.9| 18.4| 42| -6.7| -54| -85| -7.5[ -0.3| -0.2[ -0.3| -0.4| -0.4| -0.4| -1.4| -0.4] -0.2[ 0.0 03| 1703 46.5
16| THEM 22| 26| 46| 158 85| -2.0[ - 24 17| -87| -2.2| -1.8] -1.7| -1.6| -1.6] -1.8| -2.1| -2.4| -2.0] -1.2| -0.9| 134.8| 334
17| BB H 3.4 - 11.8| 23.8| 5.0 -3.8| -13.9| -10.0| -6.1| -13.7f 0.0 0.0 0.0 0.0 0.0 00 0.0 00| 00[ 05/ 05 42.4
18| HiFE 38| 40| 72| - 111 57| -1.6| -1.6[ -16| - -3.4| -2.1| -1.6| -1.0| -1.0[ -0.7[ -2.1| -1.1| -1.0] 0.2| 0.3 68.2
19| = 23| 30| 66| 23.1| 17.2| 00| -2.0 -2.0| -1.4| -42| -3.7| -3.2| -2.8] -2.7| -2.7| -2.7| -3.1| -3.2| -2.5| -2.1| -1.0| 158.4| 63.2
20| R0 IE T 1.2 -5.9| -2.3| -2.1| -2.1| -2.1] -2.2| -2.9| -2.0[ -1.0[ -0.3] -0.3
21| %)l 26| -1.8| -1.4| -2.2| -0.7| -0.5| -0.5| -1.5| -0.6| -0.3| 0.0 0.2
2|EoEs|  1.7] 23| 84| 202| 127 00| -63| -1.0f -03| -2.0f -13| -1.2| -1.2| -1.2| -1.3| -1.5| -1.9| -2.5| -2.3| -2.2| -2.1| 150.0| 61.4
23| ez | 21| -5.1| -49| -4.6| -4.2| -3.6| -3.4| -4.1| -3.0| -2.7| -2.4| -1.8
24| EHRFTHT -10.9[ -2.0[ -1.9 -1.9 -2.0| -2.0/ -2.1| -2.8] -3.0[ -2.5| -1.8| -1.6
25| AT ET 32| -2.6] -2.2| -2.3] -1.9] -1.9| -1.8] -2.8| -2.9] -2.6| -1.8] -1.1
26| PR AT 0.0f -2.1f -1.9| -1.7| -2.5| -2.6| -2.7| -3.0| -3.1| -2.9| -1.7| -1.4
27| BEg T
28| & 7KHT
29| RARAT 0.8 08| 08| 1.5 44 21| 21| 20
30| /N iLiET
31| HHEAT 23| -2.4| -16| -1.7| -1.7| -1.7| -1.5| -2.4| -2.3] -1.9] -1.9] -1.5
32| % W -1.0] -2.7| -3.4| -3.8] -3.0| -1.7| -1.4| -1.8 -1.4| -1.1| -0.4| -0.4
8 &t 4.7 8.4| 20.4| 29.8| 12.4 -3.1| -11.4| -109| -7.8| -10.3| -0.8] -0.7[ -0.4| -0.2| 00| 0.1 -1.8] -0.8] -0.2| 0.2 0.6| 190.4| 47.6
=(3352:1§z00) 100.0|108.4{130.5|169.4190.4{184.5| 163.5| 145.7| 134.3| 120.5 49.2| 48.8| 48.6| 48.5| 48.5| 48.6| 47.7| 47.3| 47.2| 47.3| 47.6] 190.4| 47.6
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